Directorate of Livestock Extension Research and Development Muzaffarabad

R.U.B Associates, Satellite Town Rawalpindi

Sub: Work order for supply of Hatchers, Setters and farm equipments ".

With reference to the subject cited above that is in response of advertisement No. AJK/206-D, PPRA Ref No.1076, dated 19-12-2019, your rates received on 7-01-2020, accepted being lowest are sanctioned by the

Therefore we issue you (RUB Traders, Satellite Town Rawalpindi) Supply Order as per details appended

Sr. No.	Items	Specifications	Quantity	Unit Price	Total Amount
01	Egg Setter (Setting capacity of 2400-2600	Local Made: Double wall sand-which		(Rs)	(Rs)
	eggs)	mm thickness with a 30 density thermopore insulation of 1.5 inches thickness. All other material should be Galvanized GI sheet. Fully automatic computer operated with following parameters: Tarent following parameters:	06	264,964	1,589,784
02	Hatcher (capacity of 2000-2500 eggs/hatch)	humidity, turning, ventilation and cooling.			
03	Feeder Large Silver	Durable alumini	06	264,964	1,589,784
04	Feeder Small Silver	Durable aluminium Local made, 30 cm diameter	150	249	37,350
05 06	Chick Guard	Durable aluminium Local made 8 inches Local made Roll 6 ft X 1.8 Inches	150	166	24,900
	Gum Boot		30	415	
		Soft Upper and Harder Sole, Double Colour, USP: Rubbergad for	20	1,246	12,350 24,920
07	Air conditionar (2 tons power)	2 Ton Split AC with duct			
	,	compressor, digital panel display. Dimensions:(W x H x D) mm 998 x 330 x 210, with dual compressor, Active energy control feature and one year warranty	02	132,480	264,960
			To	otal Amount (Rs)	3,544,048

R.U.B Associates, Satellite Town Rawalpindi are hereby requested to complete supply under the following terms

- Proceedings: Supply of the material should within 06 weeks after receiving this order copy. Quality of Material: The material to be supplied by R.U.B Associates, Satellite Town Rawalpindi must comply with the recognized stat of the art and generally accepted rules of technology. They must be of excellent quality and specification as 2.
- Delivery Charges: Delivery Charges are included in figure quoted.
- Miscellaneous Charges: No hidden charges involved. 3.
- Tex Deduction: All the taxes as per government rules (AJK) will be detected from the above figure.
- Payment Schedule: Payment will be made by cross check in favor of R.U.B Traders, Satellite Town Rawalpindi immediately after successfully delivery report submission and receipt of original Invoice by us. Delivery Address: Government Poultry Complex Manakpian Muzaffarabad.
- Jurisdiction: The place of jurisdiction will be Muzaffarabad in the event of any dispute arising between Livestock Department and R.U.B Traders, Satellite Town Rawalpindi

You are therefore requested to do the necessary action immediately. Please feel free to contact us for any further assistance.

> Dr. Muhammad Ijaz Khan Director Livestock Extension Research & Development Muzaffarabad.

No: 899=90, Date: 13/03/2020

- 1. Director General Department of Animal Husbandry, Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.
- 2. Director General, Accounts Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.

Directorate of Livestock Extension Research and Development Muzaffarabad

Ittfaq Poultry & Veterinary Services Muzaffarabad

Sub: Work order for supply Hatchers, Setters and farm equipments ".

With reference to the subject cited above that is in response of advertisement No. AJK/206-D, PPRA Ref No.1076, dated 19-12-2019, your rates received on 7-01-2020, accepted being lowest are sanctioned by the official purchase committee.

Therefore we issue you (Ittfaq Poultry & Veterinary Services) Supply Order as per details appended below:

No.		Specifications	Quantity	Unit Price (Rs)	Total Amount (Rs)	
)1	Chick Transport Boxes	Imported, Good quality plastic or PVC, Capacity (75100 day old Chicks)	80	1,365	109,2	
02	Pressure washer	Imported, High Pressure Washer - 150PSI - Self Priming - IPX	02	18,900	37,80	
03	De-beaker machine (imported)	Imported Automatic with feet padle Size: 27x16x14 cm, voltage: 110v, power 220-250w, temperature range of movable blade 600-800 degree, beak trimming rate 1500-1800pcs/h, blade stopping time 0-4seconds adjustable, reddish time less than 30 / With complete accessory	02	34,700	69,400	
04	Poultry transport cage (plastic) imported	Imported, Good quality plastic or PVC, Capacity 30 hens/ 50	80	4,440	355,200	
05	Egg transport	Imported Goof quality plastic	20	2,390	47,800	
06	Egg nests	GI sheet Egg nests 24 gauge (Single) 12 holes fitted with moveable perches	30	5,990	179,700	
07	Egg nests	GI sheet Egg nests 24 gauge (Double) 24 holes fitted with moveable perches	30	9,900	297,000	
-08	Feeder plates	Durable Plastic , Local made, baby feeder plates 18 inches	56	99	5,544	
205	Voltage stabilizer	1.2 kVA or 1200 VA stabilizer	2	2,740	5,480	
10	Heater double		10	1,890	18,900	
11	Gas heater	Size 66m³ - 82m³ with a heat output of 6.7 to 8.2kW	Total (Rs)	4,940	24,700 1,150,724	

M/s Ittfaq Poultry & Veterinary Services Muzaffarabad are hereby requested to complete supply under the following terms and conditions;

Proceedings: Supply of the material should commence immediately after receiving this order copy.Quality of
Material: The material to be supplied by Ittfaq Poultry & Veterinary Services Muzaffarabad must comply
with the recognized stat of the art and generally accepted rules of technology. They must be of excellent quality
and specification as mentioned in tender documents..

Delivery Charges: Delivery Charges are included in figure quoted.

Miscellaneous Charges: No hidden charges involved.

4. Tex Deduction: All the taxes as per government rules (AJK) will be detected from the above figure.

5. Payment Schedule: Payment will be made by cross check in favor of Ittfaq Poultry & Veterinary Services Muzaffarabad immediately after successfully delivery report submission and receipt of original Invoice by us.

6. Delivery Address: Delivery Address: Government Poultry Complex Manakpian Muzaffarabad.

 Jurisdiction: The place of jurisdiction will be Muzaffarabad in the event of any dispute arising between Livestock Department and Ittfaq Poultry & Veterinary Services Muzaffarabad

8. You are therefore requested to do the necessary action immediately.

9. Please feel free to contact us for any further assistance.

Dr. Muhammad Ijaz Khan

Director

Livestock Extension Research & Development Muzaffarabad.

No: 491-92, Date: 13/03/2020

pirector General, Accounts Government of Azad State of Jammu and Kashmir, Muzaffarabad for information. Senior esearch Officer Poultry, Government Poultry Complex Manakpian Muzaffarabad for procurement

Directorate of Livestock Extension Research and Development Muzaffarabad

Ghazi Agropoulive Industries Lahore Road Faisalabad

Sub: Work order for supply Hatchers, Setters and farm equipments ".

With reference to the subject cited above that is in response of advertisement No. AJK/206-D, PPRA Ref No.1076, dated 19-12-2019, your rates received on 7-01-2020, accepted being lowest are sanctioned by the official purchase committee.

Therefore we issue you (Ghazi Agropoulive Industries) Supply Order as per details appended below:

Sr. No.	Items		Specifications	Quantity	Unit Price (Rs)	Total Amount (Rs)
1			roof chick board, 7: 2500 eggs	2	9,900	14,90
be			g Box of water proof chick or one complete set of			19,800
-3	Chick sorting/ grading table	Water p	roof chick board / Steel 48 hes	1	9,900	9,900
4	Drinker large (Plastic)	Durable	Plastic , Local made	150	200	30,000
5	Drinker small (Plastic)	Durable chick, 4.	Plastic , Local made,baby 5 lit, 50 birds capacity	150	150	22,500
22/	Total Amount (Rs)				al Amount (Rs)	97,100

M/s Ghazi Agropoulive Industries Lahore Road Faisalabad are hereby requested to complete supply under the following terms and conditions;

- 1. Proceedings: Supply of the material should commence immediately after receiving this order copy. Quality of Material: The material to be supplied by Ghazi Agropoulive Industries Lahore Road Faisalabad must comply with the recognized stat of the art and generally accepted rules of technology. They must be of excellent quality and specification as mentioned in tender documents..
- 2. Delivery Charges: Delivery Charges are included in figure quoted.
- 3. Miscellaneous Charges: No hidden charges involved.
- 4. Tex Deduction: All the taxes as per government rules (AJK) will be detected from the above figure.
- 5. Payment Schedule: Payment will be made by cross check in favor of Ghazi Agropoulive Industries Lahore Road Faisalabad immediately after successfully delivery report submission and receipt of original Invoice by us.
- 6. Delivery Address: Government Poultry Complex Manakpian Muzaffarabad.
- 7. Jurisdiction: The place of jurisdiction will be Muzaffarabad in the event of any dispute arising between Livestock Department and Ghazi Agropoulive Industries Lahore Road Faisalabad.
- 8. You are therefore requested to do the necessary action immediately.
- 9. Please feel free to contact us for any further assistance.

Dr. Muhammad Ijaz Khan

Director
Livestock Extension Research & Development
Muzaffarabad.

No: 493-95, Date: 13/03/2020

- 8. Director General Department of Animal Husbandry, Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.
- 9. Director General, Accounts Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.
- 10. Senior esearch Officer Poultry, Government Poultry Complex Manakpian Muzaffarabad for procurement

pirectorate of Livestock Extension Research and Development Muzaffarabad

Vazeer Traders Muree Road Rawalpindi

Sub: Work order for supply Hatchers, Setters and farm equipments ".

With reference to the subject cited above that is in response of advertisement No. AJK/206-D, PPRA Ref No.1076, dated 19-12-2019, your rates received on 7-01-2020, accepted being lowest are sanctioned by the official purchase committee.

Therefore we issue you (Wazeer Traders) Supply Order as per details appended below:

Sr. No.	Items	Specifications	Quantity	Unit Price (Rs)	Total Amount (Rs)	
01 Refrigerator		30 to 36 inches width, 67 to 70 inches in height, and 29 to 35 inches in depth. When it comes to the interior, the refrigerator itself should provide you with 14 to 20 cubic feet of space	02	75,000	150,000	
-02	Egg trays	Flexible Egg trays pure plastic with capacity of 30 egg each	200	50	10,000	
03	Bucket	Steel 22 gauges	10			
		guageo		800	8,000	
M/s Waz	eer Traders are	herebyroguestadt		Total Amount (Rs)	168,000	

er Traders are hereby requested to complete supply under the following terms and conditions;

- Proceedings: Supply of the material should commence immediately after receiving this order copy. Quality of Material: The material to be supplied by Wazeer Traders must comply with the recognized stat of the art and generally accepted rules of technology. They must be of excellent quality and specification as mentioned in tender documents..
- Delivery Charges: Delivery Charges are included in figure quoted.
- 3. Miscellaneous Charges: No hidden charges involved.
- 4. Tex Deduction: All the taxes as per government rules (AJK) will be detected from the above figure.
- 5. Payment Schedule: Payment will be made by cross check in favor of Wazeer Trader immediately after successfully delivery report submission and receipt of original Invoice by us. 6
- Delivery Address: Government Poultry Complex Manakpian Muzaffarabad.
- Jurisdiction: The place of jurisdiction will be Muzaffarabad in the event of any dispute arising between Livestock Department and Wazeer Traders.
- You are therefore requested to do the necessary action immediately.

Please feel free to contact us for any further assistance.

Dr. Muhammad Ijaz Khan

Director

Livestock Extension Research & Development Muzaffarabad.

No: 496-98, Date: 13/03/2020

- 1. Director General Department of Animal Husbandry, Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.
- 11. Director General, Accounts Government of Azad State of Jammu and Kashmir, Muzaffarabad for information.
- 2. Senior esearch Officer Poultry, Government Poultry Complex Manakpian Muzaffarabad for procurement

Extension Research and Development Muzaffarabad

APPROAD Muzaffarabad

Sub Work order for supply Hatchers, Setters and farm equipments ".

With reference to the subject cited above that is in response of advertisement No. AJK/206-D, PPRA Ref No 1076, dated 19-12-2019, your rates received on 7-01-2020, accepted being lowest are sanctioned by the official purchase committee.

Therefore we issue you (Mubkhar&Coy) Supply Order as per details appended below:

		Items	Specifications	Quantity	Unit Price (Rs)	Total Amoun (Rs)
(20KVA) with line accessories and Installation cost kV/En		KVA) with cessories and	Naturally aspirated 4 cylinder vertical inline engine. Standby Power Rating: 22 kVA / 18 kW, Prime Power Rating: 20 kVA / 16 kW, Sound Attenuated Enclosure. Canopy with h high quality steel and paint process	01	1,294,000	1,294,000
02	T	rolley for feed.	Local made, with a loading capacity of 1000 Kg	02	13,400	26,800
03	- 1	Drinker automatic	Durable Plastic , Local made , 250 birds capacity	50	470	23,500
10	4	Brooder Electric	Local made, babies chick brooder, GI sheet, 22 G, with four legs of 8 inches, 3 feet Diameter	20	2,772	55,440
+	05	Wall Thermome (max-min)	ter Imported	15	714	10,710
+	× 06	Spade	Local made, iron Large size	6	487	2,922
	-07	Liter racker.	Local made, iron Large size	10	546	5,460
	08	Gas cylinder kg)	(14 Good quality with capacity of 14 Kg	6	6,720	40,320
-	09	Dangries	Good quality of cloths	20	1,344	26,880
	-				Total Amount (Rs)	1,486,032

M/s Mubkhar&Coy are hereby requested to complete supply under the following terms and conditions;

Proceedings: Supply of the material should commence immediately after receiving this order copy. Quality of Material: The material to be supplied by Mubkhar&Coymust comply with the recognized stat of the art and generally accepted rules of technology. They must be of excellent quality and specification as mentioned in tender documents..

2. Delivery Charges: Delivery Charges are included in figure quoted.

Miscellaneous Charges: No hidden charges involved.

4. Tex Deduction: All the taxes as per government rules (AJK) will be detected from the above figure.

 Payment Schedule: Payment will be made by cross check in favor of Mubkhar&Coy immediately after successfully delivery report submission and receipt of original Invoice by us.

6. Delivery Address: Delivery Address: Government Poultry Complex Manakpian Muzaffarabad.

- 7. Jurisdiction: The place of jurisdiction will be Muzaffarabad in the event of any dispute arising between Livestock Department and Mubkhar&Coy.
- 8. You are therefore requested to do the necessary action immediately.

9. Please feel free to contact us for any further assistance.

Dr. Muhammad Ijaz Khan

Livestock Extension Research & Development Muzaffarabad.

No: 499-501, Date: 06/03/2020

1. Director General Department of Animal Husbandry, Government of Azad State of Jammu and Kashmir, Muzaffarabad for information

13 Director Congrel Associate Courses - C. 10 . . .